Algebra 1 Bellwork  Thursday, October 2, 2014

1. The sum of four consecutive odd numbers is —189. Write and solve an equation to find these three
numbers.

2. Find the exact solution.
OM +23 = 6M

3. Find the exact solution.
5-20W+6)=4+W-13-3W

4. Find the exact solution
8+2(5C-7)=7C+1+3C-17

5. Find the exact solution.

11 _ 7 23
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1. The sum of four consecutive odd numbers is —185[. Write and solve an equation to find these three
numbers.
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2. Find the exact solution. 3. Find the exact solution.
9M+23=2M 5-2(W+6)=4+W-13-3W
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4. Find the exact solution 5. Find the exact solution.
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